MAT1500-04/06 04F Quiz 1  Print Name (Last, First) |

Show all work, including mental steps, in'a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use
arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers. LABEL
parts of problem. Keep answers EXACT (not decimal approximations, if possible).

@ Jason leaves Defroit of 2100 pm and drwes at constant speed west alomg T-96.
He passes Ann Arbor , 40 mi from Detroit, at 2.50pm.

a) A‘F\'er‘ ﬁrs\' maleing a fully labeled graph il\usl'm’nbg the sr\'uah'on) express the
digrance traveled (d > miles) in temms of the hme elapsed (t i hours ),

©) Irr\’erprc\‘ fhe value of the slope uith units 1h the contextof s problem,

@ $60=J2x+3 L 9(x) = xZ+ ) )
a) What are the domains OF fandg ?  [use notohon llke  0€X<l or Co,v). ]
b) What "'S 9°‘§' n S("?Pllﬁed form and What is i:\'s doman‘r: ?7
0 What is feq in swmplifred forn and uhat 1s ths domain?
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domain (£) =
2x+3 20, X &3, YX—Z 235 or (%2, ooj

g(x) = xt+ 1 no problems, so domanq (g) = | X€R or (‘m""’)l_
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B o) V=96 =4 ( 2az) = ()i i=Qar) Y\ =
\::xe doman () :  doman (go£> = domain(€): E‘_—E:_T_'LB
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aote: m defires a new ﬁmc\\on with domain (-0, 0)
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